AIAPGET Homeopathy

Topic:- 2HOMEO_SO01

L Whilch one of the following lymphoid tissue has both afferent anid

efferent lymphatics?
1. Thymus
2, Spleen
3, Tonsil
4, Lymph MNode

[Question ID = 121][Question Description = 101_7001_HOME_OCT22_S1_QO01]
1 [Option ID = 481]
2 [Option ID = 482]
3 [Option ID = 483]
4 [Option ID = 484]

A WN -

2) Which of thie following ligaments is chiefly glastic in nature?

1, Deltoid Ligament

2, Ligameritum Flava

3, Ligameritum Patellae
4, Capsular Ligament

[Question ID = 122][Question Description = 102_7001_HOME_0OCT22_S1_Q02]
1 [Option ID = 485]
2 [Option ID = 486]
3 [Option ID = 487]
4 [Option ID = 488]

A W N -

3 ’ p g W
) Which one of the following nerve innervates the mediastinal pleura?

1, Wagus Merve

2, Splanichinic MNerve
3, Phrenic Mearve

4, Intercostal MNerve

[Question ID = 123][Question Description = 103_7001_HOME_OCT22_S1_Q03]
. 1 [Option ID = 489]
2 [Option ID = 490]
3 [Option ID = 491]
4 [Option ID = 492]

A W N -

4 ~ 2 % F )
) Which statement is incorrect about Seminal vesicles?

1. Located between the urinary bladder and the rectum.
2. Reservoirs of spermatozoa
3. The secretion of seminal vesicle contains fructose

4. After puberty the vesicles contribute upto 85% of the seminal fluid.

[Question ID = 124][Question Description = 104_7001_HOME_OCT22_S1_Q04]
1. 1 [Option ID = 493]



2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

%) Pain of stretch of CBD or Gallbladder is referred to following areas except.

1. Epigastric region

2. Tip of right shoulder

3. Interior angle of left scapula
4. Interior angle of rightscapula

[Question ID = 125][Question Description = 105_7001_HOME_OCT22_S1_QO05]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

6) Match List | with List 11

List | List 11

A Anterior Mediastinum || Trachea
B Middle kediastinum |l Heart
(. Posterior Mediastinum |1l Azygos Vein

O Superior Mediastinum: [V Sternopericardial Ligament

Choose the correct answer fram the options given below,
1A= E-ILC-,D-|
2 A -1 Bl -1, D1l
3A-LEB-ILC-ILD- 1V
448 B-V, C=I, D~

[Question ID = 126][Question Description = 106_7001_HOME_OCT22_S1_Q06]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

7) The sensary modality which does not reach the thalamus directly is.

1. Proprioception
2, Gustation

3. Nociception

4, Olfaction

[Question ID = 127][Question Description = 107_7001_HOME_OCT22_S1_Q07]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]



8)

Consider the following statement:
Rapid transmission of impulses through purkinje fibres are due to

A. The purkinje fibres are large in size than ether conducting fibres of
heart.

B. Extremely high level of permeability of the gap junctiens within purkinji
fibres.

C. Purkinje fibres have very few myofibrils,
D. Purkinje fibres have more fibrous tissues.

Choose the miost appropriate answer from the-options given below,
1.4 Band C only,
2. A and D only.
3. 4 and Conly.
4. C and D only,

[Question ID = 128][Question Description = 108_7001_HOME_OCT22_S1_Q08]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

9)

The tastesensation from the posterior one third of the tongue is
trarismitted through;

1. Trigeminal Nerve

2, Glossopharynigeal Merve

3, Facial Merya

4, Hypioglossal Merve

[Question ID = 129][Question Description = 109_7001_HOME_OCT22_S1_Q09]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

10)

Basic stimuli that are important in causing secretion of Pancreatic juice
i digestive phase:
A Acetycholine

E, Gastrin
C, Secretin
. Chaleeystokinin (CkK)

Choose the correct angwer from thie options given below,
1,48 C and D arnily,
2, B and Conly,
3, A and Doorily,
4, B, C and D orily,



[Question ID = 130][Question Description = 110_7001_HOME_OCT22_S1_Q10]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

) The blogd in the blood vessel does not clot primarily due to;

1, Sodium citrate i plasma chielates calcum ions

2, Thrombir has pesitive feedback on plasminogen

3. Mascular endothielium s smaoath is coated with glycocalysx
4, Vitamin K antagonists are presentin plasma

[Question ID = 131][Question Description = 111_7001_HOME_OCT22_S1_Q11]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

12) All the Hormones use Adenylyl cyclase-cAMP second messenger system

for the acticn except
1. Calcitonin

. Oxytocin

. Secretin

S Lo pa

. Glucagon

[Question ID = 132][Question Description = 112_7001_HOME_OCT22_S1_Q12]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

13) Which one of the following is MOT a labile cell?

1, Transitional epithelium of bladder
2, Stratified squarnous cell of cervix
3. Hematoporetic stemn cell

4, Hepatooyte

[Question ID = 133][Question Description = 113_7001_HOME_OCT22_S1_Q13]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

14) Type | Diabetes Mellitusis azsodated withrall of following EXCEPT,

T Insulitis

2, Beta cell mass reducad
3, Amyleidosis change

4, Beta cell degraniulation

[Question ID = 134][Question Description = 114_7001_HOME_OCT22_S1_Q14]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]



4. 4 [Option ID = 536]

15) hAatch List | with List 11
List | List Il
REMAL DISEASE FEATLIRE
A, Adult polyaystic kidney disease I. Flea bitten kidney
B. Arti-glomerular basement membrane I, 5rrrall coritractad
disease kidh'e_y

C. Acute post streptococcal

| I kel I, Autosomal domifiant
glomerulonephritis

; o IV, Goodpasteur’s
Cr. Chronic glomerulonephritis B

dizease

Choose the correct answer from the optioris given below,
T A-LE-PE- LD -
S A-LEB-L -1 T
3A-NE-INLC-1LD-]
4 A58-IILB-MC-LDO-]

[Question ID = 135][Question Description = 115_7001_HOME_OCT22_S1_Q15]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

16 ; 4 g .
) Whiat is corract sequence of eventin peak of cardiac markersin Acutes

Myacardial Infract fram the following:
A Wyoglobin

B CE-ME-
C, LDH
D, Cardiac Troponin

Choose the correct ariswer from the options given below,
TADCE
2.8 0B C
iDAEC
4.0 4 CE

[Question ID = 136][Question Description = 116_7001_HOME_OCT22_S1_Q16]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

17) One unit of packed RBC raises haemaoglobin by g/l

1,05
2.1
315
4,2



[Question ID = 137][Question Description = 117_7001_HOME_0OCT22_S1_Q17]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

18 ; ; ¢ ", .
) The immunoglobulin dass respensible for sensitization of man for

local and systemic anaphylactic reaction is;
1. 1g4
2, IgE
3,196
4, Igh

[Question ID = 138][Question Description = 118_7001_HOME_OCT22_S1_Q18]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

19 .
) Given below are two statements:

Statement |: Anti-Mullerian Hormone is not secreted by Serioli cells of
Testes and Granulosa cells of avary.

Statement II: Absence of AMH results in hermaphroditism in males.

In light of the above statements, choose the correct answer from the
options given below;
1. Both Statement | and Statement |l are correct.
. Both Statement | and Statemerit |l are incorrect.
. Statement | is correct but Statement || is incorrect.

S R .

. Statement | is incorrect but Statement |l is correct.

[Question ID = 139][Question Description = 119_7001_HOME_OCT22_S1_Q19]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]



20) Tissue marker CA-125 is raised in;

A Endometriosis

B, Cervicitis

C, Epithielial Cvarian Tumaor
D, Abdamiral TE

E. Cervical Erogion

Choose the correct answer from the aptions given below,
1.4 B and E only.
2,4 and Conly,
3.4 Cand D only,
4,4 B, Cand Eonly,

[Question ID = 140][Question Description = 120_7001_HOME_OCT22_S1_Q20]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

2 Match List 1 with List 1
List | List 11
A TR ; g :
| Fundal height at ensifarm cartilage
weeks

B. 24 II. Fundal height correspondence to junction of upper and
weeks middle third from umbilicus and xiphoid process.

C.32
Il Midway betwe=en and symphysis pubis and umbilicus
e Y YMpnRysis p !
D. 36
IV, Just above umbilicus
weeks

Choose the correct answer from the options given below:
T.A-II,B-1V,C-1l, D=1
2A-WB-IIl,C-1l,D~1
JA-ILB-1,C-IV, D=1l
4A-1,B=-1LC=-],D-1V

[Question ID = 141][Question Description = 121_7001_HOME_OCT22_S1_Q21]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

22) Which one of the following is a permanent contraindication of breast

feeding?
1, Acute puerperal illness in mother
2, Puerperal psychosis in mother
3, Low birth weight of the baby
4, Herpes simplex lesion of the breast



[Question ID = 142][Question Description = 122_7001_HOME_OCT22_S1_Q22]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

23) Menorrhagia can be a presenting complaint in all conditions except one of

the following. Choose the correct ang.
1. Asherman syndrome

. Polycystic Ovarian Syndrome

. Adenomyosis

S & B S

. Endometriosis

[Question ID = 143][Question Description = 123_7001_HOME_OCT22_S1_Q23]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

24) Match List 1with List 11

List | List Il

: |, Pituitary destruction b
A Kailmann syndrome s y

izscharmnia

B. Mayer Rokitnsky Kuster Hauser R
e R B ' I, Lenar or abzant GnkH

Synidrome
C. Sheehari’s syndromie Il Uterine syriechiae
L. Ashermann syndrome I%, Absence of uterus

Choose the correct ariswer from the options given below,
1. A-LB=N,C=[, D]l
2 A=, B=-MC-1,D=I
3A-ILE-NLC-1,D-1V
481, B-,C-IV, D]

[Question ID = 144][Question Description = 124_7001_HOME_OCT22_S1_Q24]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]



23)  \atch List | with List I

List | List 11
A. Placenta ; .
. Cord is attached to margin of placenta
membranecea )
B. Battledare placenta Il. Cord is attached to membrane

1. Placenta is directly anchored to
C. Valementous placenta

myometrium

D. Placenta accreta IV. Placenta is unduly this and large

Choose the correct answer from the options given below:
T.A-LB-,C-1I,D- IV
2A-IW,B-ILC-,D=1
A-IVB-1,C-1I, D=1
4A5-1LB-1,C=1I,D-1V

[Question ID = 145][Question Description = 125_7001_HOME_OCT22_S1_Q25]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

26) Thiz genotype of Klinefelter syndrome is:

TR
2, 70
30
4,5

[Question ID = 146][Question Description = 126_7001_HOME_OCT22_S1_Q26]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

27) Which one of the following hormanes tends to decraase in Polyoystic

Onearian Syndrome?
1, Estradiol
2, Serum hormene binding globulin
3, Dehiydroepiandrostensdions
4 Imsulin

[Question ID = 147][Question Description = 127_7001_HOME_0OCT22_S1_Q27]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

28 ; : g
) The commanast form of abstetric palsy encountered in puerperium is,

1, Erb's palsy

2, Torticallis

3, Footdrop

4, Carpel tunnel syndrome



[Question ID = 148][Question Description = 128_7001_HOME_OCT22_S1_Q28]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

29) First external'sign of putrefaction in a body lying in air is geen over the

region of
1, Stomach
2, Livar
3, Spleen
4, Cascum

[Question ID = 149][Question Description = 129_7001_HOME_OCT22_S1_Q29]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

300 \iatch List 1 with List 1

List | List Il

A |PC 84 |I. Grievous hurt

B, IPC 197|Il. Dying declaration

C. IPC 320|lI1. Issuing, signing false medical certificate

D. IEA 32 |IV. Law of criminal responsibility

Choose the correct answer from the options given below:
T.A-NLB=1,C-1V, D=l
2A-1LB-IV,C-1I, D=1l
S.A-1L,B=1LC=IIl,D- 1V
4 4-IV,B-III,C-1,D-1

[Question ID = 150][Question Description = 130_7001_HOME_OCT22_S1_Q30]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]



31 . i )
) Given below are two statements, one is labelled as Assertion (A) and the

ather is'labelled as Reason (R).

Assertion (A): In partial hanging, constrictive force is less but congestive
changes are more marked

Reason (R): In partial hanging, carotid arteries and jugular veins are
completely oecluded but vertebral arteries continue to-supply bleod te
head

In light of the above statements, choose the correct answer from the
options given below;

1. Both (A) and (R) are correct and (R) is the correct explanation of (4),
2. Both (A) and (R) are correct and (R) is the correct explanation of [A),
3. (A) is carrect but (R) is not correct.
4, (A) is not correct but (R) is correct.

[Question ID = 151][Question Description = 131_7001_HOME_OCT22_S1_Q31]
1 [Option ID = 601]
2 [Option ID = 602]
3 [Option ID = 603]
4 [Option ID = 604]

A w N -

32) Following active principles are found in Atropa belladonng EXCERT,

1, Hyosoyamine
2, Emetine
3, Atrapin
4, Scopolamine

[Question ID = 152][Question Description = 132_7001_HOME_OCT22_S1_Q32]

1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]
33) . ) i e i
Single largest cause of blindness in Indiais:
1, Glaucoma
2, Refractive errors
3, Cataract
4, Trachoma

[Question ID = 153][Question Description = 133_7001_HOME_OCT22_S1_Q33]
1 [Option ID = 609]
2 [Option ID = 610]
3 [Option ID = 611]
4 [Option ID = 612]

A w N =



34) A 55 year old male smoker presented with a'slow growing painless

swelling below the right ear over the angle of jaw, On examination, the
swelling was fourd to be soft and cystic, non-tender, smooth ard well
defined. The most probable diagnosisof the case i

1, Warthin®s tumour

2, Tubercular lymphiaderiopathy

3, Fleomarphic adencma

4, Aderiocarcingma of Parotid gland

[Question ID = 154][Question Description = 134_7001_HOME_OCT22_S1_Q34]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

33) The mast common site of nose bleed in children and young adults:

1. Floarof nose

2, Inferior turbinate
3, Little's area

4, Middle turbiriate

[Question ID = 155][Question Description = 135_7001_HOME_OCT22_S1_Q35]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

36 j 0o
) Litira’s herniais

1. Hernia containing sigmoid calon

2, Hernia containing urinary bladder

3, Hernia containing Meckel's diverticulum
4, Hernia containing ovary

[Question ID = 156][Question Description = 136_7001_HOME_OCT22_S1_Q36]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]



37) Regarding chiolesteatoma

A, Itcontaing desguamated debris from its keratinizing squamous
epithelial lining,

B, It causes enzymatic bone destruction,

C, Congenital chiolesteatoma arise from embryonic ciliated columnar
epithelium entrapped in thie middle ear cleft,

D, & persistent malodoraus ear discharge is present
E. A Heshy red polyp may be seen filling the meatus

Choose the correct answer from the opfions given below:
1.4 B, C and D only,
2,4 B, Dand Eonly,
3.B, C Dand Eonly,
4,4, C,Iand Eonly,

[Question ID = 157][Question Description = 137_7001_HOME_OCT22_S1_Q37]
1 [Option ID = 625]
2 [Option ID = 626]
3 [Option ID = 627]
4 [Option ID = 628]

AN wnN -

38) A 14 weaars old boy preserited with burning, lacrimation, photophobia

and ropy discharge from eyves he gives history of similarcomplaint
during previous summer season, On examination of eyes, the
palpebral conjunictiva shiows flat topped papillae arranged in a cobble
stane fashion along with conjunctival hiyperemia, The probable
diagniosis is:

1, Acute haemorrhagic conjunctivitis

2, Viral comjunctivitis

3, Toxic canjunictivitis

4, Vernal keratoconjunctivitis

[Question ID = 158][Question Description = 138_7001_HOME_OCT22_S1_Q38]
1 [Option ID = 629]
2 [Option ID = 630]
3 [Option ID = 631]
4 [Option ID = 632]

A w N -



39)

Given below are two statements, one is labelled as-Assertion (A) and the
other is labelled as Reason (R).

Assertion (A): A sudden death can docur in patient with venous
thrombosis of the deep vein of the legs.

Reason (R): Venous:thrombosis of the deep veins of the legs may be
complicated by immediate rick of developing pulmonary embolism,

In lighit of the above statements, choose the correct answer from the
options given below;
1. Both (A} and (R) are correct and (R) is the correct explanation of (A),
2. Both (A) and [R) are correct and (R) is the correct explanation of (A),
3. (A) is correct but (R) is not correct.
4. (A) is not correct but (R) is correct.

[Question ID = 159][Question Description = 139_7001_HOME_0OCT22_S1_Q39]

A wnN =

40)

1 [Option ID = 633]
2 [Option ID = 634]
3 [Option ID = 635]
4 [Option ID = 636]

Given below are two statements, one is labelled as Assertion (4) and the
other is'labelled as Reason (R),

Assertion (A): A primary metabolic acidesis results in an increase in
hydrogen ions and a consequent in bicarbonate ions.

Reason (R): In compensatory respiratory alkalosis, the patient
hyperventilates and reduces the arterial carbon dioxide levels, thus moving
pH back to normial.

In light of the above statements, choose the correct answer from the
options given below;
1. Both (A) and (R) are correct and (R) is the correct explanation of (A),
2, Both (A) and [R) are correct and (R) is the correct explanation of (A),
3. (A) is carrect but (R) is not correct.
4. (A) is not correct but (R) is correct.

[Question ID = 160][Question Description = 140_7001_HOME_OCT22_S1_Q40]

A wnN -

1 [Option ID = 637]
2 [Option ID = 638]
3 [Option ID = 639]
4 [Option ID = 640]



A W N -

1.

41 .
) Given below are two statements:

Statement |: 80% of amoebic liver abscess is a single large abscess occur
commonly in the left posterior-superior region of liver.

Statement II: Pus in ameebic liver abscess is chocelate brewn in-colour
called Anchovy sauce pus.

In light of the above statements, choose the correct answer from the
options given below;

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statemerit Il are incorrect.

3. Statement | is correct but Statement || is incorrect.

4. Statement | is incorrect but Statement Il is correct.

[Question ID = 161][Question Description = 141_7001_HOME_OCT22_S1_Q41]
1 [Option ID = 641]
2 [Option ID = 642]
3 [Option ID = 643]
4 [Option ID = 644]

42) ‘Caterpillarhump” anomaly s found in:

1. Hepatic artery

2, Cystic artery

3, Coeliac artery

4, Gastroduodenal artery

[Question ID = 162][Question Description = 142_7001_HOME_OCT22_S1_Q42]
1 [Option ID = 645]

2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

43)

Wilbiich i WOT 3 features of Ranula
1, Oceur on the floor of mouth
2, Plunging ranula extends to neck
3, Pushes the tongue up
4, Hard in congistency

[Question ID = 163][Question Description = 143_7001_HOME_OCT22_S1_Q43]

A W N -

1 [Option ID = 649]
2 [Option ID = 650]
3 [Option ID = 651]
4 [Option ID = 652]



44) Match List | with List 11

List | List 1l

Tumour Markers

Carcinomas

A Calcitonin | Prastate Canicer

B. Alpha fetoprotein Il. Carciroma of colan

. Medullary carcinoma of
thyroid

0 Carcing-embryonic antigen I, Liver carcer

. Prostate spedific antigen

Choose the correct answer from the optioris given below,
ToA-ILB-I T, D -
2A-IME-ILC-LD-1
3 A-ILE-NLE-1LD-
AANEB-ILC-LD- 1

[Question ID = 164][Question Description = 144_7001_HOME_OCT22_S1_Q44]
1 [Option ID = 653]
2 [Option ID = 654]
3 [Option ID = 655]
4 [Option ID = 656]

A wnN -

45 -
) Given below are two statements:

Statement |: The natural history of disease is best establish by Cohort
studies.

Statement [I; Longitudinal studies are useful to study the natural history of
disease and its sutcome,

In light of the above statements, choose the correct answer from the
options given below;

==l

. Both Statement | and Statement Il are correct.
. Both Statement | and Statement |l are incorrect.
. Statement | is correct but Statement || is incorrect.

S R .

. Statement | is incorrect but Statement |l is correct.

[Question ID = 165][Question Description = 145_7001_HOME_OCT22_S1_Q45]
1 [Option ID = 657]
2 [Option ID = 658]
3 [Option ID = 659]
4 [Option ID = 660]

AN wnN -



46) Consider the following statement regarding Cohort study
A. Cohiort study issuitable to study rare diseases and several different
aetiological factors can be examined in a single study.

B. In a Cohort study, we can determine incidence rates directly in those
exposed and these net exposed.

Choose the correct answer from the option given below;
1. Both A and B are true
2. Both A and B are false
3. Only A istrue
4. Only B is true

[Question ID = 166][Question Description = 146_7001_HOME_OCT22_S1_Q46]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

47) hAatch List |with List 11
List | List Il
Disease Occupation
A, Byssinosts | Sugarcane factory
B. Anthracosis II, Doy stuff and Dyeing industry
C. Bagassosis I, Textile industry
O Bladder carcer IV, Coal mines

Choosze the correct answer from the options given below,
ToA-LB-ILC -1 D= Y
2A-LB-MW TN
2 A-LEB-NC-LO-]
A8 -LB-1LZ-LD-1

[Question ID = 167][Question Description = 147_7001_HOME_OCT22_S1_Q47]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

8) The time interval between inoculation of infective larvae and the first

appearance of detectable Microfilariae (M) is known as?
1. Pre-paterit period
2, Latent period
2, Wiridow period
4, Withdrawal period

[Question ID = 168][Question Description = 148_7001_HOME_OCT22_S1_Q48]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]



49) Standard Deviation i5a type of,

1, Measure of Dispersion

2, Measure of Central Tendency
3, Correlation

4, Test of Significarice

[Question ID = 169][Question Description = 149_7001_HOME_OCT22_S1_Q49]

1. 1 [Option ID = 673]

2. 2 [Option ID = 674]

3. 3 [Option ID = 675]

4. 4 [Option ID = 676]

30)  \atch List I with List II
List | List Il
Medicine Antidote
A. Cicuta I. Opium
B. Gloneine Il. Aconite
C. Psorinum IIl. Coffea cruda
0. Stramanium IV, Belladonina

Choose the correct answer from the options given below:
T.A-ILB-ILE-LD-IV
2ZA-LB-ILC-N,D-IV
JA-ILB-LE-LDB-IV
AA-IVBE-ILC-UILD-1I

[Question ID = 170][Question Description = 150_7001_HOME_OCT22_S1_Q50]
1 [Option ID = 677]
2 [Option ID = 678]
3 [Option ID = 679]
4 [Option ID = 680]

A WN -

31) Diabetes with Impotenicy Hoarseness worse after talking better from

wine; isthe characteristic feature of:
1, Zineurm metalicum
2, Caca
3, Selenium
4, Carbo vegeatabilis

[Question ID = 171][Question Description = 151_7001_HOME_OCT22_S1_Q51]
1 [Option ID = 681]
2 [Option ID = 682]
3 [Option ID = 683]
4 [Option ID = 684]

A W N -



52)

Paroxyamal suffocative cough, coming onabout midnight with crying
and dysponea; profuse sweat accompanies many affections i the
feature of

1, Apis mellifica

2, Psorinum

3, Sambucus nigra

4, Ipecacuantia

[Question ID = 172][Question Description = 152_7001_HOME_OCT22_S1_Q52]

1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]
53 . b ;
) hatch List | with List 11
List |1 List 1
A Remedy for effects of repressed exanthemata | lanatis
. ,  lanatia
simulating hydrocephalus -
B. Irregular menses as the resultof irritation of I, Helleborous
MErroUs system Miger
=, Second stage of inflammation with plastic
= ? Il Kall Mur

exiudation

Cn Hemarrhoids look like bunch of grapes or like |1V, Dioscorea
“red cherries” illosa

Choose the correct ariswer from the opticns given below,
TA-ILB=LC-1l,D- 1V
2 A1, B-C=IlL, D=1
2A-ILE-LC-NL D1V
4.8 -LB-C- 1V, D-1l

[Question ID = 173][Question Description = 153_7001_HOME_OCT22_S1_Q53]
1 [Option ID = 689]
2 [Option ID = 690]
3 [Option ID = 691]
4 [Option ID = 692]

A wWw N =

>4) "Diabetes especially in children” is a symtom of:

1. Chamonnilla

. Syzygium Jabolanum
. Acetic Acid

. Crataegus

B T

[Question ID = 174][Question Description = 154_7001_HOME_OCT22_S1_Q54]
1 [Option ID = 693]
2 [Option ID = 694]
3 [Option ID = 695]
4 [Option ID = 696]

A W N -



55)

A case presented with colicwith corvulsions, jerking, tearing in cocoys
especially duririg menses with wiolent strange desire and sensation of
irterral chill meeds:

1, Cicuta virosa

2, Chamomilla

3, Celooynth

4, Aconite

[Question ID = 175][Question Description = 155_7001_HOME_OCT22_S1_Q55]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

56)

Obstinate constipation foryears; rectum seems tied up with strictures;
when enermawas used the agony of passage waslike |abor i5 the
symptam of

1, Sulphur

2, Syphillinum

3, Mu vormica

4, Mitricacid

[Question ID = 176][Question Description = 156_7001_HOME_OCT22_S1_Q56]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

57)

Dreams of running water is a symptom of
1, Matrum huraticurm
2, Matrum Sulpuricum
3, Stramoniurm
4, Opium

[Question ID = 177][Question Description = 157_7001_HOME_OCT22_S1_Q57]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

58)

An old ran complaining of chiranic diarrhioea and shiortress of breath
on geing up stairs reported in GPD, On examination hig tongue is
clean, red and wet with center furrow, gums are soft arid spongy and
miultiple ulcers on soft palate, Thie mostsuitable remedy is:

1. Mitricacid

2, Camphor

3. Barvta Carb

4, Ambra Grizea

[Question ID = 178][Question Description = 158_7001_HOME_OCT22_S1_Q58]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]



4. 4 [Option ID = 712]

59 .
) Given below are two statements:

Statement |: Aurum met is the remedy for terrible melancholy after abuse
of mercury; meditates upon death, upan suicide and it cures chronic
enlargemerit of the testes and lumps in the mamniary glands.

Statement II: Mercurius solubilis is the remedy for chronic diarrhea with
low feeble constitution, in insidious complaints and the patient craves
pungent, spicy, highly seasoned things.

It light of the above statements, choose the correct answer from the
options given below;

1. Both Statement | and Staternent Il are correct.

2. Both Statement | and Statemerit Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4, Statement | is incorrect but Statement Il is correct

[Question ID = 179][Question Description = 159_7001_HOME_OCT22_S1_Q59]
1 [Option ID = 713]
2 [Option ID = 714]
3 [Option ID = 715]
4 [Option ID = 716]

A w N =

60) Bad effect of mental excitemenit, fright, fear, mechanical injuries and

their later consequences; from Raving hair cutisin;
1, Matrum Carb
2, Mug Vomica
3, Millefolium
4, Glonoing

[Question ID = 180][Question Description = 160_7001_HOME_OCT22_S1_Q60]
1 [Option ID = 717]
2 [Option ID = 718]
3 [Option ID = 719]
4 [Option ID = 720]

AW N =

61) The remedy corresponiding to the symptoms of Air Sicknessin

aviators is
1, Aconite
2, Belladorina
3, Calcares Carby
4, Cacculus Indica

[Question ID = 181][Question Description = 161_7001_HOME_OCT22_S1_Q61]
1 [Option ID = 721]
2 [Option ID = 722]
3 [Option ID = 723]
4 [Option ID = 724]

A WN -



62) Match List | with List 11

List | List Il
A uice of whole plant at the commencemeant of 3

, l. Cinchaona
flevvering
B. luice from fresh root before flowering Il Belladerinia
. Charcoal of ary kind of wood Il Bryoria
Ou Tincture fram back I, Carbo wveg

Choose the correct answer fram the options given below,
TASLE=ILC-IILD -1V
2, AL B~[C-1,D-1¥
3A-ILEB-NLC-1W, D
4 8- B-ILC-1ILD-I

[Question ID = 182][Question Description = 162_7001_HOME_OCT22_S1_Q62]
1 [Option ID = 725]
2 [Option ID = 726]
3 [Option ID = 727]
4 [Option ID = 728]

AW N =

63) Given below are two statements:

Statement |: Like its botanical relatives, Gelsemium is a great paralyser

Statement |I: Gelsemium is indicated for neurotic symptom in cigar
makers

It light of the above statements, thoose the correct answer from the
options given below;

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statemenit |l are incorrect.

3. Statement | is correct but Statement || is incorrect.

4, Statement | is incorrect but Statement Il is correct.

[Question ID = 183][Question Description = 163_7001_HOME_OCT22_S1_Q63]
1 [Option ID = 729]
2 [Option ID = 730]
3 [Option ID = 731]
4 [Option ID = 732]

A wpN =



64) Match List 1with List 11

List | List 11
Symptom Medicine
A, Tea taster's cough due to inhaling of fungus |l Mercurius
E. Sensationi of a hair on the torigue [l.Gelsermium
oA hurman thaermo meter; Sensitive to heat and .

I, Silicea
cold

W Kah

O, Mervous affection of cigarmakers

Hydraigdicum
Choose the correct answer from the options given below,

T A-ILE-L,C-IM D=l

2 A-ILE-NLE-1LD-

3A-IVE-LC-ILD-1

AA-INEB-ILC-LD-]

[Question ID = 184][Question Description = 164_7001_HOME_OCT22_S1_Q64]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

63) hatch List | with List 11
List | List Il
A Irrational talk or prattle of his business < after 2 pm || Ledum pal
B. Combination of vexation, anxiety, and prolonged loss L
; RS s W RIS - Il Bryania
of sleep
. Aversian to mieat, fo conked fagd, to fish, to salt to .
) I, Cocoulus
sweets
L Wounds that bleed scantily, but are followed by pain, o
1%, Graphites

puffiness and coldness of parts

Choose the correct ariswer from the options given below,
1A=L B-IILC-IW, D~
2. 8- B=Il,C-Ill,D- 1
3A-NLEB-LC-1,D-1
48 -1 B-IL,C-ll,D-|

[Question ID = 185][Question Description = 165_7001_HOME_OCT22_S1_Q65]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]



66) Conisider the followirig statements regardirig Antipathy mode of

treatment
A Based on Contraria contrariis

B Propagated by Galen
C, Mever recommended by Hahnemann in any condition
D, Derived fram Homoeopathic law of nature

Chose the correct answer from the options given below:
1. & and B only,
2,4 and C only,
3, A B and Donly,
4, B and C only,

[Question ID = 186][Question Description = 166_7001_HOME_OCT22_S1_Q66]

1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
67) e i .
lsopathic method of treatment of disease was propogated by
1, Galen
2, Lux
3, Stahil
4, Boulduc

[Question ID = 187][Question Description = 167_7001_HOME_OCT22_S1_Q67]
1 [Option ID = 745]
2 [Option ID = 746]
3 [Option ID = 747]
4 [Option ID = 748]

A WN -

68) A full time amelioration of the symptoms, yet no special relief of the

patient after prescription of a remedy signifies:
1. Improper selection of curative medicine
2, Latent existing organic conditions that prevent improvement
beyond 3 certain stage
3, Suffering from high grade inflammation
4, Idipsyncratic patient

[Question ID = 188][Question Description = 168_7001_HOME_OCT22_S1_Q68]
1 [Option ID = 749]
2 [Option ID = 750]
3 [Option ID = 751]
4 [Option ID = 752]

A W N -



69) Ir the transtator’s preface of sth edition of Organen of Medidre, RE

Dudgesn mentions his indebtedness to whorm for the emendations of
his first translation and for the ides of concordance of aphorisms:

1, Richiard Haehil

2. Erneste George de Brunnow

3, Gross and Stapf

4, Richard Hughes

[Question ID = 189][Question Description = 169_7001_HOME_OCT22_S1_Q69]
1 [Option ID = 753]
2 [Option ID = 754]
3 [Option ID = 755]
4 [Option ID = 756]

AN w N -

7 -
0) Given below are two statements:

Statement |: Law of similar is the fundamental law in the palliation of
incurable states.

Statement II: Kenit's ninth cbservation states that prolonged aggravation
and the final decline of patient demands-palliative treatment.

It light of the above statements, choose the correct answer from the
options given below;

1. Both Statement | and Staternent Il are correct.

2. Both Statement | and Statemerit Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4, Statement | is incorrect but Statement Il is correct

[Question ID = 190][Question Description = 170_7001_HOME_OCT22_S1_Q70]
1 [Option ID = 757]
2 [Option ID = 758]
3 [Option ID = 759]
4 [Option ID = 760]

A wnN =

71 :
) Given below are two statements:

Statement |: Indigencus plants procured in fresh state are used by mixing
their freshly expressed juice immediately with equal parts of spirits of wine.

Statement II: All fermentation of the vegetable juice will be at once
checked by the spirits of wine mixed with it and rendered impassible for
the future,

In light of the above statements, choose the correct answer from the
options given below;

==

. Both Statement | and Statemerit |l are correct.
. Both Statement | and Statemerit |l are incorrect.
. Statement | is correct but Statement || is incorrect.

B U

. Statement | is incorrect but Statement |l is correct.

[Question ID = 191][Question Description = 171_7001_HOME_OCT22_S1_Q71]
1. 1 [Option ID = 761]



2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

A W N -

72) Whiat is to be done by a physician when no improvement follows after

giving the remedy having alternating action?
1, Wait, watch and give placebo
2, Give same madicing in higher potency
3, Give equally small dose of same medidne
4, Charige the remeady

[Question ID = 192][Question Description = 172_7001_HOME_OCT22_S1_Q72]
1 [Option ID = 765]
2 [Option ID = 766]
3 [Option ID = 767]
4 [Option ID = 768]

73) Arrarige the essay and works of CF.S Hahnemann in the order of their year

of publication;

A. Dissertation on the Helleborism of the Ancients
B. Friend of Health

C. Organon of the Rational system of Medicine

D. Instructions for surgeon on venereal disease

E, Cure and preventive of Scarlet fever

Choose the correct answer from the options given below:;
. A, B, C, DandE only.

.ADBEC

.B,D.AEC

.0, B.ECA

O R |

[Question ID = 193][Question Description = 173_7001_HOME_OCT22_S1_Q73]

A WN -

1 [Option ID = 769]
2 [Option ID = 770]
3 [Option ID = 771]
4 [Option ID = 772]



74)

Given below are two statements, one is labelled as-Assertion (A) and the
other is labelled as Reason (R).

Assertion (A): Acute mental and emotional diseases almost always arise
from internal Psora,

Reason (R): Acute mental and emotional should be immediately treated
with antipseric.

In light of the above statements, choose the most appropriate answer from
the options given below:

1. Both (A} and (R) are correct and (R) is the correct explanation of (4),
2. Both (A) and [R) are correct and (R) is the correct explanation of [4),
3. (A) is carrect but (R) is not correct.
4. (A) is not correct but (R) is correct.

[Question ID = 194][Question Description = 174_7001_HOME_OCT22_S1_Q74]

A wpN =

75)

1 [Option ID = 773]
2 [Option ID = 774]
3 [Option ID = 775]
4 [Option ID = 776]

Which disease amangst the following is dus to fixed miasm?
1, Typhus
2, Whooping cough
3. Gaol fewver
4, Typhioid

[Question ID = 195][Question Description = 175_7001_HOME_OCT22_S1_Q75]

A wnN =

76)

1 [Option ID = 777]
2 [Option ID = 778]
3 [Option ID = 779]
4 [Option ID = 780]

Given below are two statements, one is labelled as-Assertion (A) and the
other is labelled as Reason (R).

Assertion (A): Hahnemann recommended Homoeopathic medicine to be
dissolved in water and give in proper small doses in Sixth edition of
Organorm.

Reason (R): According to the sixth edition of Organon, medicine dissolved
in water is far more effective than globules placed dry on the tongue.

In light of the above statements, choose the most appropriate answer from
the options given below:

1. Both (A} and (R) are correct and (R) is the correct explanation of (4),

2. Both (A) and [R) are correct and (R) is the correct explanation of [4),

3. (A) is carrect but (R) is not correct.

4. (A) is not correct but (R) is correct.

[Question ID = 196][Question Description = 176_7001_HOME_OCT22_S1_Q76]



1 [Option ID = 781]
2 [Option ID = 782]
3 [Option ID = 783]
4 [Option ID = 784]

A wnN =

77) Given below are two statements, one is labelled as Assertion (4) and the

ather is labelled as Reason (R),

Assertion (A): During drug proving every medicinal substance must be
employed quite alone and perfectly pure without taking anything else of a
medicinal nature the same day, nor during all the time we wish to observe
the effact of the medicine.

Reason (R): All the suffering, accidents and changes of the health of the
experimenter during the action of a medicine are solely derived from the
medicine being proved.

In light of the above statements, choose the most appropriate answer from
the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (4),
2. Both (A) and (R) are correct and (R) is the correct explanation of (4),
3. (A) is carrect but (R) is not correct.
4. (A) is not correct but (R) is correct.

[Question ID = 197][Question Description = 177_7001_HOME_0OCT22_S1_Q77]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

78) Match List | with List 11
List | List 1]
A, Furious Mania I.. A Silence not wholly inattentive

B. Doleful, guerulous e
. Il. Calm intrepidity
lamentation

C. Senseless chattering 11, Tetal inatiention

D. Disgusting and abominable |IV. Mute display of commiseration in looks

conduct and gestures

Cheose the correct answer from the options given below:
TA-ILB-IV,C-Ill, D=1
2A-1,B=IV,C-1, D=1l
3.A-IL,B=INLC=IV, D=1
4.4 -1,B-NLC-1,D-1V

[Question ID = 198][Question Description = 178_7001_HOME_OCT22_S1_Q78]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]



79) Match List 1with List 11

List | List Il

Symptoms Dominating Miasm
A, Paper thin nails . Sycosis

B. Boils with suppuration and

— ; VRREE ] . Paora

pains

<. Fear of dog, strangers etc in

I, Syiphiliz
children 2L

1%, Combination of Psora and

. Hairfall in cireular spots AR
syphilitic miasm

Choose the correct answer from the optioris given below,
T A-ILE-NLE-1LD-
A E-LC-NLD-1
3 A-ILEB-LC - - Y
4 A8-ILB-NMC-1,D-|

[Question ID = 199][Question Description = 179_7001_HOME_OCT22_S1_Q79]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

80) Whio amengst the following propagated the blood-letting method of

treatment?
1, Galen
2, Hippoerates
3. Hakinermarin
4, Brousseau

[Question ID = 200][Question Description = 180_7001_HOME_OCT22_S1_Q80]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

81) Which potencies did Kent suggest for acute disease of patients who

prove every remacdy they get?
1,30% 200M and 1M
2,30 and 200
3, 200t and 11
4,20% and 1M

[Question ID = 201][Question Description = 181_7001_HOME_OCT22_S1_Q81]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]



82) The only remedy mentioned in ‘Aggravation in Moonlight' in

Therapeutic Pocket Baok s
T, Antim crue
2, Belladorina
3, Mo varica
4, Stramonium

[Question ID = 202][Question Description = 182_7001_HOME_OCT22_S1_Q82]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

83) The only remedy mentionad in Boenninghausen's Therapeutic Book

for-Aggravation fram Onion i3
1. Bismuth
2. Sulphiur
3, Thuja occ
4, Antim tart

[Question ID = 203][Question Description = 183_7001_HOME_OCT22_S1_Q83]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

84) ‘Orgasm of blood' s mentionad irrwhich chapter of Kent's Repertory

1, Gerieralities

2, Female Genitalia
3, Fever

4, Head

[Question ID = 204][Question Description = 184_7001_HOME_OCT22_S1_Q84]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

83) Which of the following is the first rubric given in Therapeutic Pocket Book?

. Absence of Mind

=l

2. Alternating Mood
3. Mind in General
4. Disposition general affected

[Question ID = 205][Question Description = 185_7001_HOME_OCT22_S1_Q85]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]



86) Match List 1with List 11

List |

List Il

Condition/ Rubric

Chapterin BECR

A Sea sickness

I, Mausea and Vomiting

B. Squeamishriess

Il kAiriel

. Sequalae

I Aggravation & amelioration in
general

Cr, Sermnambulism

IV, Sersation and Complaints in
gerieral

Choose the correct answer from the optioris given below,

TA-IMEB-ILC-LD-|
2A-ILE-LT - DI
2 A-LB-MC-ILE -
A A-ILE-L,C-D-l

[Question ID = 206][Question Description = 186_7001_HOME_OCT22_S1_Q86]

1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

87)

from first to last;
A, Sesual organ

B Urire
C, Micturition
D, Leucorrhivea

E. Menstruation

Arrange the following chapters of Boenninghausen's Therapeutic Book

Choose the correct ariswer from the aptions given below,

1.B, CAED
2B CADE
AEDEC
4 AEBCD

[Question ID = 207][Question Description = 187_7001_HOME_OCT22_S1_Q87]

1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]




A W N -

88)

Whiatwould be the correct arrangement for the symptom “muscle
refuse to obey the willwhen attention is turned away” in Kent
Repertary
1, Extremities- Refuses-muscles-obey the will when attention is
turnied away
2, Generalities- Will-muscles refuses to obey the willwhen attention
i turried away
2, Mind=-Will-muscles refuses to abey thewill whien attention is
turmied away
4, Mind-Refuses-muscles- obay thie will when attention is'turried
away

[Question ID = 208][Question Description = 188_7001_HOME_OCT22_S1_Q88]

89)

. 1 [Option ID = 829]
2 [Option ID = 830]
3 [Option ID = 831]
4 [Option ID = 832]

Arrange the following sub-chapters of Urinary organs of Kent's Repertory
in erder of their appearance from first-to last:

A, Urethra
B. Urine

C. Bladder
D. Kidney
E. Prostate

Choose the correct answer from the options given below;
1.ABCDE
2ZECDAEB
3.C,DEAEB
4.C,D AEE

[Question ID = 209][Question Description = 189_7001_HOME_OCT22_S1_Q89]

A W N -

90)

. 1 [Option ID = 833]
2 [Option ID = 834]
3 [Option ID = 835]
4 [Option ID = 836]

The rubric "Aversion for dry foed' isfound inwhich chapter of BBCR,

1, Appetite

2, Taste

3, Stomach and Epigastrium
4, Conditionsin General

[Question ID = 210][Question Description = 190_7001_HOME_0OCT22_S1_Q90]

A W N -

1 [Option ID = 837]
2 [Option ID = 838]
3 [Option ID = 839]
4 [Option ID = 840]



o Which of thie followirig Repertory is MOT published by Guernisey

1, Desires and Aversion
2, Repertory of Sciatica
3, Repertory of Mastitis
4, Repertory of Haemarrhoids

[Question ID = 211][Question Description = 191_7001_HOME_OCT22_S1_Q91]

1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]
92) o T | e
The only medicine given in Kent's Repertory for Yellow Dandruff is,
1, Kall Chlor
2, Mezeraum
3. Kali Sulph
4, Thuja

[Question ID = 212][Question Description = 192_7001_HOME_OCT22_S1_Q92]
1 [Option ID = 845]
2 [Option ID = 846]
3 [Option ID = 847]
4 [Option ID = 848]

A wWN =

93) Given below are two statements;
Statement |: The all drugs menticned in the Kent's Repertory, under
chapter extremities, rubric "Heaviness, lower limb exertion after” are
mentioned in the first grade only.

Statement II: The all drugs mentioned in Boenninghausen's Therapeutic
Book, under the chapter Lower BExtremities, rubric "Patella” are mientioned
in the First Grade only.

I light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statemerit |l are correct.

2. Both Statement | and Statement |l are incorrect.

3. Statement | is correct but Statement || is incorrect.

4. Statement | is incorrect but Statement Il is correct.

[Question ID = 213][Question Description = 193_7001_HOME_OCT22_S1_Q93]
1 [Option ID = 849]
2 [Option ID = 850]
3 [Option ID = 851]
4 [Option ID = 852]

A w N =



%) Match List I with List 1l

List | List II
RUBRIC MEANING
A. Mania-a-potu ||, Rudeness

B. Mentagra Iimpulsive and Hurried

C. Impertinence |lll. Delirium Tremens

D. Impetucus  |IV. Barber's itch

Choose the correct answer from the aptions given below:
T.A-N,B-IV,C-1,D-1l
2ZA-IVB-HILE-L,D-1l
LA-ILB-LC-IV,D-1l
4A8-LB-1LC-ILD-IV

[Question ID = 214][Question Description = 194_7001_HOME_OCT22_S1_Q94]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

93) The total number of drugs mentioned in characteristics Materia Medica

part of "Beger Boenninghausen's Characteristics and Repertory” are;
1.180
2.181
3,140
4.342

[Question ID = 215][Question Description = 195_7001_HOME_OCT22_S1_Q95]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]

%6) Match List | with List 11
List | List Il
Rubric in BECR. Medicine
A Communicative |, wert, alb
B. Cloths destroy his II, Arseric alb
C. Ferocity Il Lachesis
O Mischisvousniess I, Opium

Choose the correct answer from the options given below,
ToA-ILE-IM,C-1L, D=1
2A-LB-ILC-ILE -V
2A-ILB-LC-INMT-
AA-LB-ILC-LD- IV

[Question ID = 216][Question Description = 196_7001_HOME_OCT22_S1_Q96]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]



4. 4 [Option ID = 864]

7) Which of the followirig rubrics are presentin Boger Boenninghausen's

Characteristics and Repertory but-abiserit in Kent Repertory.
A Reflexes diminished

B, Sucking the thumb
C, Hysteria

D, Satyriasis

E. Imbecility

Choose the correct answer from the opfions given below:
1.4 B and E only.
2. B Drand Eonly,
3, C Aand B only,
4,4 B and Donly,

[Question ID = 217][Question Description = 197_7001_HOME_OCT22_S1_Q97]
1. 1 [Option ID = 865]
2. 2 [Option ID = 866]
3. 3 [Option ID = 867]
4. 4 [Option ID = 868]

%8) Following drugs are derived from Loganiaceas family EXCEPT

1, Galsemium
2, Spigelia

3, Senna

4, lgriatia amara

[Question ID = 218][Question Description = 198_7001_HOME_OCT22_S1_Q98]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

99 . : .
) Following parameters are used to assess the guality of mother tincture

EXCERT
1, Total solid
2, LN Absorbarice
3, Weighit permilliliter
4, Water Content

[Question ID = 219][Question Description = 199_7001_HOME_0OCT22_S1_Q99]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]



100) Which schedule of the drugrand cosmetic rule provides the rules

regarding Good Manufacturing Practices and Requirements of
Premises, Plarit and Equiprment for Homoeopathic Medicines?
1. Schedule K
2, Schiedule H
3, Schedule 12
4, Schedule M1

[Question ID = 220][Question Description = 200_7001_HOME_OCT22_S1_Q100]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]

101) Arrange the following Pharmacopeia according to theirchronological

order of publication
A German Homoeopathic Pharmacopeia complied by Wilmar
Siehwabe

B Pharmaceutics Manual by Bhattacharya
C. British Homoeopathic Pharmacopeia
D, Pharmacopeia of American Institute of Homoeopathy

Choose the correct answer from the options given below,
1.ABCD
2 CALEB
3EADC
4 DA B C

[Question ID = 221][Question Description = 201_7001_HOME_OCT22_S1_Q101]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4. 4 [Option ID = 884]

102) Rectified sprit 60° QP has an ethyl alcohol concentration of

1.87.0
2,974
3 347
4,975

[Question ID = 222][Question Description = 202_7001_HOME_0OCT22_S1_Q102]
1 [Option ID = 885]
2 [Option ID = 886]
3 [Option ID = 887]
4 [Option ID = 888]

A wWw N =



103) hAatch List |with List 11

List | List Il
A Mygale Lasiodora . Black widows spicer
B. Tarentula Hispania Il Crange spider

C. Lactradectus Mactans (Il Spanish spider

Cn Theridion Curasawicum|lV. Black Cuban spider

Choose the correct aniswer fram the optiohs given below:
1 A-NLB-IV, C-Il, D~
2 A-ILB-1, C-1, Dl
AN E-Nl,C-1D-1
4 A8 -1LEB-N, C-Il, D~I

[Question ID = 223][Question Description = 203_7001_HOME_OCT22_S1_Q103]
1 [Option ID = 889]
2 [Option ID = 890]
3 [Option ID = 891]
4 [Option ID = 892]

AW N =

104) Given below are two statements, one is labelled az Aszertion (A) and the

other is'labelled as Reason [R).
Assertion (A): Myasthenia Gravis is an autoimmune diserder.

Reason (R): It is due fo autcantibodies formed against the voltage gated
calcium channels o pre-synaptic motor nerve terminal.

In light of the above statements, thoose the correct answer from the
options given below;
1. Both (A} and (R) are correct and (R) is the correct explanation of (4),
2, Both (A) and [R) are correct and (R) is the correct explanation of [A),
3. (A) is carrect but [R) is not correct.
4. (A) is not correct but (R) is correct.

[Question ID = 224][Question Description = 204_7001_HOME_OCT22_S1_Q104]
1 [Option ID = 893]
2 [Option ID = 894]
3 [Option ID = 895]
4 [Option ID = 896]

A wpN =



105) hAatch List | with List (1

List | List Il
A Burr Cells. | Acute Myeloid Leukemia
B. Auer rads I, Urerriia

. Tear drop cellgllll. Hasmalytic ararmia
. Schistocytes |1V Wylephthisis
Choose the correct aniswer fram the optiohs given below:
1AL EB-1C-W, D=l

2 A LB Tl D- 1Y

AN E-ILC-IlL D=

4 A-1LB-,C-I, DI

[Question ID = 225][Question Description = 205_7001_HOME_OCT22_S1_Q105]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

106) Which of the following Parasite completes its entire life cycle in man,

1, Ascaris lumbricoides
2, Strongyloides

3 Hookworm

4, Trichuris

[Question ID = 226][Question Description = 206_7001_HOME_OCT22_S1_Q106]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

107 : i i
07) Given below are two statements, one is labelled as Assertion (A) and the

other is'labelled as Reason [R).

Assertion (A): Chronic use of NSAIDS increases-the risk of gastric mucosal
ulcer.

Reason (R): NSAIDS inhibits the enzyme cyclooxygenase-1 (COX-1)

I light of the above statements, choose the correct answer from the
options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (4),
2. Both (A) and (R) are correct and (R) is the correct explanation of [4),
3. (A) is carrect but (R) is not correct.
4, (A) is not correct but (R) is correct.

[Question ID = 227][Question Description = 207_7001_HOME_OCT22_S1_Q107]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]



108) Which of thie followirig describes the value for Rarison's criteria for

severity assessment of Acute Paricreatitis,
A Ange of =55 yrs

B, Blood Glucose of = 200 mag/d|
C,LDH > 350 (IU/L)

D, Serum creatining = 3.5 mg/dl
E POZ/RC2 = 207-300

Choose the correct answer from the aptions given below,
1.4 B and Conly,
2. B CandE only.
3. Cand E only.
4, Dand E only,

[Question ID = 228][Question Description = 208_7001_HOME_OCT22_S1_Q108]
1. 1 [Option ID = 909]
2. 2 [Option ID =910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]

109)

IrHyperkalemia, the most prominent ECG chiange is
1, Tall QRS complexes
2, Short PR interval
3. Prolonged PR interval
4, Tall T weaves

[Question ID = 229][Question Description = 209_7001_HOME_OCT22_S1_Q109]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]

110) The term “anosogriosia” means

1, Losg of spatial recognition

2, Loss of position sense

3 Leoss of memory

4, Loss of appreciation that something is wrong,

[Question ID = 230][Question Description = 210_7001_HOME_OCT22_S1_Q110]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]
3. 3 [Option ID = 919]
4. 4 [Option ID = 920]



111 o i
) “elerg' crackles are the characteristic auscultatory findings of

1, Pulmariary TB

2, Legionella Preumania
3, Interstitial Lung diseases
4, Lung absress

[Question ID = 231][Question Description = 211_7001_HOME_OCT22_S1_Q111]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4. 4 [Option ID = 924]

12) The cammon cause of communicating hydrocephialus is:

1, Aqueductal stenosis

2, Charaidal plexus papilloma
3, Sub-arachnoid haemorrhage
4, Meririgitis

[Question ID = 232][Question Description = 212_7001_HOME_OCT22_S1_Q112]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

113) Comionest site of Hypertensive Bleeding is in

1. Pors

2, Medulla

3, Cerebellum
4, Putamen

[Question ID = 233][Question Description = 213_7001_HOME_OCT22_S1_Q113]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4. 4 [Option ID = 932]

114) microalbuminuria isdefined as;

1, Uririary albumin excretion of more than 200mig/24 hr,

2, Urimary albumin excretion of more than 30mg/24 kr & less than
or egual to 300 mgf24hr,

3, Urimary albumin excretion of more than 20mg/24 hr,

4, Urimary albumin excretion of more than 20mg/24 kr, and less
than 200mg/24hr

[Question ID = 234][Question Description = 214_7001_HOME_OCT22_S1_Q114]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]
4. 4 [Option ID = 936]



113) A 65 years old male alcoholic presents with 2 moriths histary of

sweelling of the abdomen with shifting dullmess and ankle cedems;
shortnessof breath on exertion, On examination there are nio signs of
chironic liver diseage. His pulse is 112/minwith atrial fibrillation, apex
beat is displaced dowrwards anid laterally,
Whiat is the most likely diagnosis?

1, Deep vein thrombosis

2, Pericarditis

3, Mephrotic syndreme

4, Cardiomyopathy

[Question ID = 235][Question Description = 215_7001_HOME_OCT22_S1_Q115]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]

116) Which Lung Parenchymia Disease is 'NOT' the etiology of Chronic Cor-

Pulmonale
1. Churg- Strauss Syndrome
2. Sarcoidosis
3. Cystic fibrosis
4, Pulmoenary lymphangioleiomyomatosis

[Question ID = 236][Question Description = 216_7001_HOME_OCT22_S1_Q116]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]
3. 3 [Option ID = 943]
4. 4 [Option ID = 944]

17) The following are the complications of Acute Pancreatitis EXCEPT

1, Hyperglycaemia

2, Hypertriglyceridemia
3, Hypercaldmia

4, Encephialopathy

[Question ID = 237][Question Description = 217_7001_HOME_0OCT22_S1_Q117]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]
3. 3 [Option ID = 947]
4. 4 [Option ID = 948]

118 . . ; ;
) Curschimann's spirals are'seen in the sputum of patient with

1, Tuberculous cavity in lunig
2, Bronchial asthrma

3, Lung absress

4, Bropchiectasis

[Question ID = 238][Question Description = 218_7001_HOME_OCT22_S1_Q118]
1. 1 [Option ID = 949]
2. 2 [Option ID = 950]
3. 3 [Option ID = 951]
4. 4 [Option ID = 952]



9 Mirimal change glomerular Nephritis has following features

A WMost common cause of nephrotic syndrome in childrer
B, Mephrotic range of proteinuria

C. Microscoplc haermaturia is insvitable

D, Hypertension is usual

E. Electron microscopy reveals retraction of epithelial foot process
along with obliteration of slit pores

Chowse the correct answer from the aptions given below,
1. A C and Eonly,
2B CandE Ol".i|_}'.
3,4 B and Eonly.
4, A B and D only,

[Question ID = 239][Question Description = 219_7001_HOME_0OCT22_S1_Q119]
1 [Option ID = 953]
2 [Option ID = 954]
3 [Option ID = 955]
4 [Option ID = 956]

A wnN -

120) which of thie followirg is NOT a syrmiptom of'B'emzr_aic Acid

1, Highly colored urine

2, Gariglion ofwrist

3, Offensive urine of old men

4, Cough waorse on lyirg on |eft side

[Question ID = 240][Question Description = 220_7001_HOME_OCT22_S1_Q120]
. 1 [Option ID = 957]
2 [Option ID = 958]
3 [Option ID = 959]
4 [Option ID = 960]

A wpN =





